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Geography in Travel Planning

1. Bosporus Strait forms part of the boundary between
A. Asia and North America

B. Russia and Alaska
C. Europe and Africa
D. Europe and Asia

2. Which routine from LON is most efficient and shows the best practice in itinerary
planning
A. LON-CPH PAR-OSL-ATH- LON
B. LON-OSL-PAR-CPH-ATH-LON
C. LON-PAR-ATH-CPH —-OSL-LON
D. LON-ATH-CPH-PAR-OSL-LON

3. NBO is three hours ahead of GMT. LPB is four hours behind GMT. Which is true?
The Local Time In LPB Is 1 Hour Ahead Of NBO

The Local Time In NBO Is 1 Hour Ahead Of LPB
The Local Time In NBO Is 7 Hour S Ahead Of LPB
The Local Time In LPB Is 7hours Ahead Of NBO

Cow>

hich characteristic of a destination will attract tourist visitors?
Tropical weather

w
A.
B. Political and civil unrest
C. Disease

D. Floods or forest tires

5. The 3—Letter airport code LED represents.
A. London

B. St. Petersburg
C. Los Angeles

6. MBA isthe code for which city?
A. Mumbai

B. Mombasa
C. Chennai
D. Maputo
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Geography in Travel Planning

A passenger departed from Sydney, Australia on Saturday afternoon flight and
arrived in san Francisco, California on the morning of the morning of the same
Saturday. This passenger has crossed the international Date Line and gained a day.
A. True

B. False

The rand is the official currency for which country?
A. South Africa

B. Kenya
C. Morocco
D. Tunisia

What prevents the development of a more efficient transportation system in much of
Africa?

poverty and government instability

extreme heat and flooding

environmental or weather conditions

protection of endangered animals

oo w>

hich country has 54-kilometre undersea rail tunnel?
China

wW

A.

B. Singapore
C. Malaysia
D. Japan

A traveler to Russia will be in Moscow from March 15" to March 22NP and then in

St. Petersburg from March 22" to March29th he leaves Russia on March 29", Will he
experience a time change during his stay in Russia?

A. Yes

B. No

The largest continent is
A. Africa

B. Asia
C. North America
D. Europe
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Geography in Travel Planning

Daylight saving time” is a period in the year when the local time is
Standard time

A. The same as

B. Behind

C. In advance of

LGA?” is the code for which airport?
A. Gatwick London

B. La Guardia Newyork
C. Linate Milan
D. Arlanda Stockholin

The Middle East is a subcontinent of
A. South America

B. Europe
C. Asia
D. Africa

Destination geography is the study of all the properties and characteristics of a
location that Influence travel.
A. True

B. False

The official language of Nigeria is
A. Chinese

B. Spanish
C. English
D. French

“Linate” is an airport in which city?
A. London
B. Rome
C. Milan
D. Lisbon
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Geography in Travel Planning

Which is the best example of the travel profession as a science?
A. Planning a two-week honeymoon for a newly married couple

B. Negotiating commissions with suppliers such as airlines and hotels
C. Organizing a limousine service at the airport for a business customer
D. Presenting and selling an eco-tour to a group of special interest customers

The latitude on a map represents the distance between a point on the map and which
other map position?
A. The equator

B. The north pole
C. The longitude
D. The meridian

What would be the local time in Beijing when it is 8:30 p.m. (20:30) in Sofia on the
12th of October?
A. 15:30 the same day

B. 16:30 the next day.
C. 01 :30 the previous day
D. 01 :30 the following day

The world’s smallest ocean is
A. Pacific

B. India
C. Atlantic
D. Arctic

Indonesia is part of
A. Europe

B. North America
C. Africa
D. Asia

The country with the highest population in the worlds is :
A. India

B. USA
C. China
D. Indonesia
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Geography in Travel Planning

A Pro—Forma itinerary for the customer should not use codes and abbreviations.
A. True

B. False

Which of the following statements about city codes is false?
Three—Ietter city code are printed on checked baggage tags

City codes can begin with the first letter of the city name
Every city has a different code and airport code
City codes are composed of alphabetic letters only

Cow>

What time is it in Vienna when it is 23:00 in Luanda on February 4th?
A. 20:00

B. 21:00
C. 22:00
D. 23:00

The "latitude” on a map represents the distance between a point on the map and
A. The Equator

B. The North Pole
C. The longitude
D. The Meridian

Which ofthe following cities is NOT a capital city?
A. Manila

B. Canberra
C. Auckland
D. D. Hanoi

Falkland Islands are part of
A. North America

B. Europe
C. South America
D. Asia
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